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throughout the paper.
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1. (a)

{b)

2

Attempt all questions.
All questions carry equal marks.

Tut v & I AT
Tyt gv & o5F quT £

Discuss the provisions of payment of Advance
x. What is the schedule of payment of Advance
Tax for an individual and 2 company assessee?

A o & A o wEurE # oavia HfE |
us =t 3 uw wee fuffidt & fae efm aw
YA AT (Schedule) F4T 7 2 55

Mr. Khosla estimates his income for the previous
year 2014-15 as below:

Income from Salary 400000
Rent from iz t House Propert

@ 7500 per mwn«h

Income from inicerest on Gove securities

Winning (gross) from Lotteries

{on 26.12.2014) 40500
DS by cmployer on salary income is Hu, G000,
Mr. Khosla contributes Rs. 60000 in his Provident
Fuad account during the year. Coleulsie the

N S PO o
o Advance Tax

various instab
him,

o =
o wrmEn w1 9¥ ®/Y 201

FPTA {9 W 9
FA7 ° &g
et g WEfa ¥ @7500 S




3 - 614
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{¢) Who can furmish a declaration in Form 15(5 to the
payer for non-deduction of Tax at Source on
interest on securities? What are the duties of the
payer after receiving Form 15G from the payee?
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15G & @ FT WHA 87 e g EH 15G &
3 e serEdl % w wHe A ¥ 2 5.5
(d) Explain the provisions of pavment of Advance Tax

in pursuance (¢ an order / amended order by
Assessing Officer u/s 210(3) and 210(4).

ar 210(3) 3R 210(4) F A frafes afued
mmﬁﬁéﬁﬁfﬂﬁaﬁmmaﬁﬁéamﬁ

5.5

-y
[
j
e
&=
ot

TS D GRS S RV - N P gge
the provisions © o the Belatad




614

(b)

(;!‘\

4

wEaE #1 Giya o9 wifEg ) 33 s fadfesd
frzt wviifaa & wedt 272 5.5
Mr. Khan had filed the Return of Income {or the

Previous Year 2014-15 declaring an income of Rs.
260000. Additions made u/s 143(3) are as below:

On question of fact Rs. 1060006
On question of law Rs. 20000
Intangible additions Rs. 20000

Total income assessed was Rs. 400000. Compute
the Tax payable, Additional Tax payable and
Penalty payable u/s 271(i)(c) by Mr Khan.
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Clean Ltd. filed a return of income for the
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financial year 2014-15 declaring income of Rs.
80,00,000 from Business. The company further
declared an income of Rs. 10,00,000 from long
term capital gains earned on 05.03.2015.

The company had paid the following instalments
of Advance Tax:

12.06.2014 Rs. 300000
15.09.2014 Rs. 700000
15.12.2014 Rs. 700000
13.03.2015 Qs 500000

Compute the amount of interost payable ufs 2548
and 2344 wasumnag lec retum At

30.09.201%.
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3. (a)

(d

3

o’

6

Discuss the salient provisions of reassessment of
income escaping assessment.

T ¥ qEHuir gergmardt fufton (escaping
assessment) * &g YA = auA FfIT1 5.5
What do you understand by Revision of an order?
Who can do such a revision and under what
circumstances can the revision of an order be
done?
T FRY F weed ¥ omum Fm afawrm 27
[@ HWIET T W AEAT | A fET uifef
¥ s R F AW F TEA B 7 5.5
Or (Hga)
What 1s a Settlement Commission? Explain the
procedure of making an application for settlement
of the case.
T from ama {Scitlement Commissicu} 70
2?7 U W & fruer & fou sefaiy v s
s T 55
Explain the provisions of Reguiai/Scrutiny
Assessment u/fs 143(3).
O 143(3) F AT gaten fauftm ot fafom
faulor & wagEl & aufr e 5.5

Explain the concept of ‘Net Wealth’ under the
Wealth Tax Act. What are the conditions that
must be satisfied before an asset can form part of
‘Net Wealth'? ' ~
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t @ Rs. 20000 per
,‘{Grmauf}n i given as

Repairs borne by tenant  Rs. 40600.

Municipal Taxes sro
is paid by tenari.

Tenant has g eposii of Ry

10 owner bearing i

Z6HT per annuIn.

Tenant runs the business of a mitk dairy from the
property and supplies 2}(3 litres of free milk to the

awner every month, The cost of milk is @ Rs. 34
per litre.

The tenant has given a non-refundable premium
of Rs. 600000 to the owner,

£l

The lease period is 6 years,

ETO.
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Or (3rgaT)
“The liability to pay Wealth Tax is determined on
the basis of Nationality and Residential Status of
the assessee.” Justify this statement and also
explain who is liable to pay wealth tax.

‘g wR g & g frafor wiee &
amar W AR fagifidt = emandy feifa @ =
e B 17 Tw wem W sife fag wifsw a9 ww

5

I 7 I . B ’ JO .
it Fota HifEy fF wer & e ¢ IS




9 614

Land in urban area {held as stock 1n
trade) 50.00,000

Motor Car {including one imported cat
worth Rs. 15 lacs psed for hiring) 35,00,000

3 Residential flats of 1500 sq ft ©
provided to 3 ¢ employess (saiarty of oas

employee : ns 5 lacs pey
annum ) 48,050,000
Farmhouse of § acres i @ remote
’ﬂﬁggc 17 1) G

socount 5 N0 000
ahilities:

Loan for land in 20w
Wealth Tax liz}
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T Q- e 7 5 e F wleww  12,00,000

o feraet & < g1y o Jwed 5,00,000
Ifaa
e 87 ¥ qff & fag &< 20,00,000

ud auf & fag amer W afae 1,00,000

3 et wied & fmior ¥ faw &=t 12,00,000
F-frafor o 2014-15 & fau w0 F 3 T @
TR ST | 55

. Write short notes on any fwo:

(a) Online filing of Service Tax Return
(b) Registration of dealers under VAT
(c) Inter-State sales under CST

(d) Turnover under VAT

{e) Provisions of Wealth Tax Act regarding valuation
of Jewellery.

fdl & W oy feufmi fafae

(a) VAT F Wi @A AFEmET Higd FE

(b) VAT % 3eia Siad a deisrtor

(c) CST & 149 =iy fagh

(1) VAT % 2efi90 %1 (Turnover)

(¢) FARTA & WeAiEA WA T eR sfufaan ¥
EICLCIER Zx5-5
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